New Inequalities of Hardy-Hilbert Type

Namita Das, Srinibas Sahoo

Abstract. In this paper, we establish a new inequality of Hardy-Hilbert type. As applications, some particular results and an equivalent form are derived. The integral analogues of the main results are also given.

Mathematics subject classification: 26D15.

Keywords and phrases: Hardy-Hilbert's inequality; Hölder's inequality; β -function.

1 Introduction

If $p > 1, \frac{1}{p} + \frac{1}{q} = 1$, $a_n, b_n \ge 0$ satisfy $0 < \sum_{n=1}^{\infty} a_n^p < \infty$ and $0 < \sum_{n=1}^{\infty} b_n^q < \infty$, then

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{m+n} < \frac{\pi}{\sin(\pi/p)} \left\{ \sum_{n=1}^{\infty} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} b_n^q \right\}^{\frac{1}{q}}$$
 (1)

and an equivalent form is

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{a_m}{m+n} \right)^p < \left[\frac{\pi}{\sin(\pi/p)} \right]^p \sum_{n=1}^{\infty} a_n^p, \tag{2}$$

where the constant factors $\pi/\sin(\pi/p)$ and $[\pi/\sin(\pi/p)]^p$ are the best possible. Inequality (1) is called Hardy-Hilbert's inequality (see [1]) and is important in analysis and its applications (cf. Mitrinovic et al. [5]). Recently many generalization and refinements of these inequalities have been also obtained, see [4, 12] and the references cited therein.

Hardy et al. [1] gave an inequality, under the same condition of (1), similar to (1) as:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{max\{m,n\}} < pq \left\{ \sum_{n=1}^{\infty} a_n^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} b_n^q \right\}^{\frac{1}{q}}$$
 (3)

and an equivalent form is

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{a_m}{\max\{m,n\}} \right)^p < [pq]^p \sum_{n=1}^{\infty} a_n^p, \tag{4}$$

[©] Namita Das, Srinibas Sahoo, 2010

where the constant factors pq and $(pq)^p$ are the best possible. The integral analogue of the inequality is:

If $p > 1, \frac{1}{p} + \frac{1}{q} = 1, f, g \ge 0$ satisfy $0 < \int_0^\infty f^p(x) dx < \infty$ and $0 < \int_0^\infty g^q(x) dx < \infty$, then

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{\max\{x,y\}} dx dy < pq \left(\int_0^\infty f^p(x) dx \right)^{\frac{1}{p}} \left(\int_0^\infty g^q(x) dx \right)^{\frac{1}{q}}$$
 (5)

and an equivalent form is given by

$$\int_0^\infty \left(\int_0^\infty \frac{f(x)}{\max\{x,y\}} dx \right)^p dy < (pq)^p \int_0^\infty f^p(x) dx, \tag{6}$$

where the constant factor pq and $(pq)^p$ are the best possible. Recently some generalizations of these Hilbert type inequalities were obtained. For details see [9, 13–15].

In the recent years, many new inequalities similar to (1) have been established, see [7,8]. Recently Das and Sahoo [11] have given a new inequality similar to Hardy–Hilbert inequality (1) as follows:

Let p > 1, $\frac{1}{p} + \frac{1}{q} = 1$, $0 < \lambda \le 4$, $0 < r, s < \lambda$ if $\lambda \le 2$, $0 < r, s \le 2$ if $\lambda > 2$, $r + s = \lambda$, $a_n, b_n \ge 0$, $A_n = \sum_{k=1}^n a_k$, $B_n = \sum_{k=1}^n b_k$. If $0 < \sum_{n=1}^\infty a_n^p < \infty$ and $0 < \sum_{n=1}^\infty b_n^q < \infty$, then the following two inequalities holds:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}-1}}{(m+n)^{\lambda}} A_m B_n < pq B(r,s) \left(\sum_{n=1}^{\infty} a_n^p\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} b_n^q\right)^{\frac{1}{q}}; \tag{7}$$

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}}}{(m+n)^{\lambda}} A_m \right)^p < (qB(r,s))^p \sum_{n=1}^{\infty} a_n^p, \tag{8}$$

where the constant factors pqB(r,s) and $(qB(r,s))^p$ are the best possible.

Sulaiman [10, Theorem 1] derived a new integral inequality similar to (5) as follows:

Let
$$f, g \ge 0$$
, $F(x) = \int_0^x f(t)dt$, $G(x) = \int_0^x g(t)dt$, $p > 1$, $\frac{1}{p} + \frac{1}{q} = 1$, $p = \lambda - \alpha - 1 > 1$, $q = \lambda - \beta - 1 > 1$, $\alpha, \beta > -1$. Then

$$\int_{0}^{\infty} \int_{0}^{\infty} \frac{x^{\frac{\beta}{q}} y^{\frac{\alpha}{p}}}{\max\left\{x^{\lambda}, y^{\lambda}\right\}} F(x) G(y) dx dy$$

$$\leq \frac{\lambda}{(\alpha+1)^{\frac{1}{p}} (\beta+1)^{\frac{1}{q}}} \frac{p^{1-\frac{1}{p}} q^{1-\frac{1}{q}}}{(p-1)(q-1)} \left\{ \int_{0}^{\infty} f^{p}(x) dx \right\}^{\frac{1}{p}} \left\{ \int_{0}^{\infty} g^{q}(x) dx \right\}^{\frac{1}{q}}. \tag{9}$$

In that paper Sulaiman does not prove whether the constant factor is best possible or not

In this paper we obtain a generalization of the inequality (9), given by Sulaiman [10, Theorem 1] and the constant factor obtained is the best possible. First we prove

the discrete version of the inequality and some particular results. Then we prove the integral analogue of the inequality.

We need the following two inequalities, which are well-known as Hardy's inequalities (cf. Hardy et al. [1]).

Lemma 1. If p > 1, $a_n \ge 0$ and $A_n = a_1 + a_2 + ... + a_n$, then

$$\sum_{n=1}^{\infty} \left(\frac{A_n}{n}\right)^p < \left(\frac{p}{p-1}\right)^p \sum_{n=1}^{\infty} a_n^p,\tag{10}$$

unless all the $a_n = 0$. The constant is the best possible.

Lemma 2. If p > 1, $f \ge 0$ and $F(x) = \int_0^x f(t)dt$, then

$$\int_0^\infty \left(\frac{F(x)}{x}\right)^p dx < \left(\frac{p}{p-1}\right)^p \int_0^\infty f^p(x) dx,\tag{11}$$

unless $f \equiv 0$. The constant is the best possible.

2 Main Results

In this section we prove our main result and derive some particular cases.

Theorem 1. Let p > 1, $\frac{1}{p} + \frac{1}{q} = 1$, $0 < r, s \le 1$, $r + s = \lambda$, $a_n, b_n \ge 0$, $A_n = \sum_{k=1}^n a_k$, $B_n = \sum_{k=1}^n b_k$. If $0 < \sum_{n=1}^\infty a_n^p < \infty$ and $0 < \sum_{n=1}^\infty b_n^q < \infty$, then the following two inequalities holds:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}-1}}{\max\{m^{\lambda}, n^{\lambda}\}} A_m B_n < \frac{pq\lambda}{rs} \left(\sum_{n=1}^{\infty} a_n^p\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} b_n^q\right)^{\frac{1}{q}}; \tag{12}$$

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}}}{\max \left\{ m^{\lambda}, n^{\lambda} \right\}} A_m \right)^p < \left(\frac{q\lambda}{rs} \right)^p \sum_{n=1}^{\infty} a_n^p, \tag{13}$$

where the constant factors $\frac{pq\lambda}{rs}$ and $\left(\frac{q\lambda}{rs}\right)^p$ are the best possible.

Proof. By Hölder's inequality with weight (cf. Kuang [3]), we have

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}-1}}{\max\{m^{\lambda}, n^{\lambda}\}} A_{m} B_{n} =$$

$$= \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{1}{\max\{m^{\lambda}, n^{\lambda}\}} \left(n^{\frac{s-1}{p}} m^{\frac{r}{p}-1} A_{m}\right) \left(m^{\frac{r-1}{q}} n^{\frac{s}{q}-1} B_{n}\right) \le$$

$$\le \left\{ \sum_{m=1}^{\infty} \left[\sum_{n=1}^{\infty} \frac{n^{s-1}}{\max\{m^{\lambda}, n^{\lambda}\}} \right] m^{r-p} A_{m}^{p} \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} \left[\sum_{m=1}^{\infty} \frac{m^{r-1}}{\max\{m^{\lambda}, n^{\lambda}\}} \right] n^{s-q} B_{n}^{q} \right\}^{\frac{1}{q}}.$$

For $\alpha = r, s$, as $0 < \alpha \le 1$, we have

$$\sum_{n=1}^{\infty} \frac{n^{\alpha-1}}{\max\{m^{\lambda}, n^{\lambda}\}} < \sum_{n=1}^{\infty} \int_{n-1}^{n} \frac{t^{\alpha-1}}{\max\{m^{\lambda}, t^{\lambda}\}} dt =$$

$$= \int_{0}^{\infty} \frac{t^{\alpha-1}}{\max\{m^{\lambda}, t^{\lambda}\}} dt = \frac{\lambda}{rs} m^{\alpha-\lambda}.$$
(14)

Hence

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}-1}}{\max\left\{m^{\lambda}, n^{\lambda}\right\}} A_m B_n < \frac{\lambda}{rs} \left\{\sum_{m=1}^{\infty} \left(\frac{A_m}{m}\right)^p\right\}^{\frac{1}{p}} \left\{\sum_{n=1}^{\infty} \left(\frac{B_n}{n}\right)^q\right\}^{\frac{1}{q}}.$$

Then by Hardy inequality (1), (12) is valid.

Again by Hölder's inequality and (14), we get

$$\sum_{m=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}}}{\max\{m^{\lambda}, n^{\lambda}\}} A_{m} = \sum_{m=1}^{\infty} \frac{1}{\max\{m^{\lambda}, n^{\lambda}\}} \left(n^{\frac{s-1}{p}} m^{\frac{r}{p}-1} A_{m}\right) \left(m^{\frac{r-1}{q}} n^{\frac{s}{q}}\right) \leq$$

$$\leq \left\{ \sum_{m=1}^{\infty} \frac{n^{s-1}}{\max\{m^{\lambda}, n^{\lambda}\}} m^{r-p} A_{m}^{p} \right\}^{\frac{1}{p}} \left\{ \sum_{m=1}^{\infty} \frac{m^{r-1}}{\max\{m^{\lambda}, n^{\lambda}\}} n^{s} \right\}^{\frac{1}{q}} <$$

$$< \left(\frac{\lambda}{rs}\right)^{\frac{1}{q}} \left\{ \sum_{m=1}^{\infty} \frac{n^{s-1}}{\max\{m^{\lambda}, n^{\lambda}\}} m^{r-p} A_{m}^{p} \right\}^{\frac{1}{p}}.$$

Hence, again applying (14), we obtain

$$\begin{split} \sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}}}{\max\left\{m^{\lambda}, n^{\lambda}\right\}} A_{m} \right)^{p} &< \left(\frac{\lambda}{rs}\right)^{\frac{p}{q}} \sum_{m=1}^{\infty} \left[\sum_{n=1}^{\infty} \frac{n^{s-1}}{\max\left\{m^{\lambda}, n^{\lambda}\right\}} \right] m^{r-p} A_{m}^{p} &< \left(\frac{\lambda}{rs}\right)^{p} \sum_{m=1}^{\infty} \left(\frac{A_{m}}{m}\right)^{p}, \end{split}$$

then by Hardy inequality (1), (13) is valid.

For
$$0 < \varepsilon < \min\left\{qs, \frac{1}{p-1}, \frac{1}{q-1}\right\}$$
, take $\tilde{a}_n = n^{-\frac{1+\varepsilon}{p}}$, $\tilde{b}_n = n^{-\frac{1+\varepsilon}{q}}$ for $n \ge 1$.

Then

$$\left(\sum_{n=1}^{\infty} \tilde{a}_n^p\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} \tilde{b}_n^q\right)^{\frac{1}{q}} < 1 + \frac{1}{\varepsilon}. \tag{15}$$

Since $\tilde{A}_1 = \tilde{a}_1 = 1$ and for n > 1,

$$\tilde{A}_{m} = \sum_{k=1}^{m} \tilde{a}_{k} > \sum_{k=1}^{m-1} \int_{k}^{k+1} x^{-\frac{1+\varepsilon}{p}} dx = \int_{1}^{m} x^{-\frac{1+\varepsilon}{p}} dx = \frac{q}{1-\varepsilon(q-1)} \left(m^{\frac{1}{q} - \frac{\varepsilon}{p}} - 1 \right).$$

Hence

$$\tilde{A}_m > \frac{q}{1 - \varepsilon(q - 1)} \left(m^{\frac{1}{q} - \frac{\varepsilon}{p}} - 1 \right), \text{ for } m \ge 1.$$

Similarly

$$\tilde{B}_n > \frac{p}{1 - \varepsilon(p-1)} \left(n^{\frac{1}{p} - \frac{\varepsilon}{q}} - 1 \right), \text{ for } n \ge 1.$$

Taking $\phi(\varepsilon) = \frac{pq}{\{1 - \varepsilon(p-1)\}\{1 - \varepsilon(q-1)\}}$, we have $\lim_{\varepsilon \to 0^+} \phi(\varepsilon) = pq$ and for $m, n \ge 1$,

$$\tilde{A}_m \tilde{B}_n > \phi(\varepsilon) \left(m^{\frac{1}{q} - \frac{\varepsilon}{p}} n^{\frac{1}{p} - \frac{\varepsilon}{q}} - n^{\frac{1}{p} - \frac{\varepsilon}{q}} - m^{\frac{1}{q} - \frac{\varepsilon}{p}} \right).$$

Then

$$\begin{split} &\sum_{m=1}^{\infty}\sum_{n=1}^{\infty}\frac{m^{r-\frac{1}{q}-1}n^{s-\frac{1}{p}-1}}{\max\left\{m^{\lambda},n^{\lambda}\right\}}\tilde{A}_{m}\tilde{B}_{n}>\\ &>\phi(\varepsilon)\sum_{m=1}^{\infty}\sum_{n=1}^{\infty}\left(\frac{m^{r-\frac{\varepsilon}{p}-1}n^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^{\lambda},n^{\lambda}\right\}}-\frac{m^{r-\frac{1}{q}-1}n^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^{\lambda},n^{\lambda}\right\}}-\frac{m^{r-\frac{\varepsilon}{p}-1}n^{s-\frac{1}{p}-1}}{\max\left\{m^{\lambda},n^{\lambda}\right\}}\right)=\\ &=\phi(\varepsilon)\left(\sum_{1}-\sum_{2}-\sum_{3}\right)\;(\text{say}). \end{split}$$

Since

$$\begin{split} \sum_{n=1}^{\infty} \frac{n^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^{\lambda}, n^{\lambda}\right\}} &> \int_{1}^{\infty} \frac{t^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^{\lambda}, t^{\lambda}\right\}} dt = \\ &= \frac{\lambda}{\left(r + \frac{\varepsilon}{q}\right) \left(s - \frac{\varepsilon}{q}\right)} m^{-r - \frac{\varepsilon}{q}} - \frac{1}{\left(s - \frac{\varepsilon}{q}\right)} m^{-\lambda}, \end{split}$$

so, we have

$$\begin{split} \sum_{1} :&= \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{\varepsilon}{p}-1} n^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^{\lambda}, n^{\lambda}\right\}} = \sum_{m=1}^{\infty} m^{r-\frac{\varepsilon}{p}-1} \left(\sum_{n=1}^{\infty} \frac{n^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^{\lambda}, n^{\lambda}\right\}}\right) > \\ &> \frac{\lambda}{\left(r+\frac{\varepsilon}{q}\right) \left(s-\frac{\varepsilon}{q}\right)} \sum_{m=1}^{\infty} m^{-\varepsilon-1} - \frac{1}{\left(s-\frac{\varepsilon}{q}\right)} \sum_{m=1}^{\infty} m^{-s-\frac{\varepsilon}{p}-1} > \\ &> \frac{\lambda}{\varepsilon \left(r+\frac{\varepsilon}{q}\right) \left(s-\frac{\varepsilon}{q}\right)} - \frac{1}{\left(s-\frac{\varepsilon}{q}\right)} \sum_{m=1}^{\infty} m^{-s-\frac{\varepsilon}{p}-1}, \end{split}$$

where $\sum_{m=1}^{\infty} m^{-s-\frac{\varepsilon}{p}-1} < \infty$. Again

$$\sum_{n=1}^{\infty} \frac{n^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^{\lambda}, n^{\lambda}\right\}} < \int_{0}^{\infty} \frac{t^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^{\lambda}, t^{\lambda}\right\}} dt = \frac{\lambda}{\left(r+\frac{\varepsilon}{q}\right)\left(s-\frac{\varepsilon}{q}\right)} m^{-r-\frac{\varepsilon}{q}},$$

so, we obtain

$$\sum\nolimits_2 := \sum\nolimits_{m=1}^\infty \sum\nolimits_{n=1}^\infty \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{\varepsilon}{q}-1}}{\max\left\{m^\lambda, n^\lambda\right\}} < \frac{\lambda}{\left(r+\frac{\varepsilon}{q}\right)\left(s-\frac{\varepsilon}{q}\right)} \sum\nolimits_{m=1}^\infty m^{-\frac{\varepsilon+1}{q}-1} < \infty.$$

Similarly, we get $\sum_{3} < \infty$. Hence

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}-1}}{\max\{m^{\lambda}, n^{\lambda}\}} \tilde{A}_{m} \tilde{B}_{n} > \phi(\varepsilon) \left\{ \frac{\lambda}{\varepsilon \left(r + \frac{\varepsilon}{q}\right) \left(s - \frac{\varepsilon}{q}\right)} - \bigcirc(1) \right\}. \tag{16}$$

If the constant factor $\frac{pq\lambda}{rs}$ in (12) is not the best possible, then there exists a positive constant K such that $K < \frac{pq\lambda}{rs}$ and (12) still remains valid if $\frac{pq\lambda}{rs}$ is replaced by K. In particular by (15) and (16), we have

$$\phi(\varepsilon) \left\{ \frac{\lambda}{\left(r + \frac{\varepsilon}{q}\right) \left(s - \frac{\varepsilon}{q}\right)} - \varepsilon \bigcirc (1) \right\} < \varepsilon \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r - \frac{1}{q} - 1} n^{s - \frac{1}{p} - 1}}{\max \left\{m^{\lambda}, n^{\lambda}\right\}} \tilde{A}_{m} \tilde{B}_{n} < \varepsilon K \left(\sum_{n=1}^{\infty} \tilde{a}_{n}^{p}\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} \tilde{b}_{n}^{q}\right)^{\frac{1}{q}} < K (\varepsilon + 1).$$

Then $\frac{pq\lambda}{rs} \leq K$ as $\varepsilon \to 0^+$. This contradiction shows that the constant factor $\frac{pq\lambda}{rs}$ in (12) is the best possible.

If the constant factor $\left(\frac{q\lambda}{rs}\right)^p$ in (13) is not the best possible, then there exists a positive constant \tilde{K} such that $\tilde{K} < \frac{q\lambda}{rs}$ and (13) still remains valid if $\left(\frac{q\lambda}{rs}\right)^p$ is replaced by \tilde{K}^p . Then by Hölder's inequality, (13) and Hardy inequality (1), we obtain

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}-1}}{\max\{m^{\lambda}, n^{\lambda}\}} A_m B_n = \sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}}}{\max\{m^{\lambda}, n^{\lambda}\}} A_m \right) \left(\frac{B_n}{n} \right) \le$$

$$\le \left\{ \sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}}}{\max\{m^{\lambda}, n^{\lambda}\}} A_m \right)^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} \left(\frac{B_n}{n} \right)^q \right\}^{\frac{1}{q}} <$$

$$$$

which gives that the constant factor $\frac{pq\lambda}{rs}$ in (12) is not the best possible. This contradiction shows that the constant factor $\left(\frac{q\lambda}{rs}\right)^p$ in (13) is the best possible. This proves the theorem.

Now we discuss some particular cases of (12) and (13). Taking $\lambda = \frac{1}{2}, 1, 2$, in Theorem 1, we get the following results, respectively.

Corollary 1. Let p > 1, $\frac{1}{p} + \frac{1}{q} = 1$, r, s > 0, $r + s = \frac{1}{2}$, $a_n, b_n \ge 0$, $A_n = \sum_{k=1}^n a_k$, $B_n = \sum_{k=1}^n b_k$. If $0 < \sum_{n=1}^\infty a_n^p < \infty$ and $0 < \sum_{n=1}^\infty b_n^q < \infty$, then the following two inequalities holds:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}-1}}{\max\left\{\sqrt{m}, \sqrt{n}\right\}} A_m B_n < \frac{pq}{2rs} \left(\sum_{n=1}^{\infty} a_n^p\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} b_n^q\right)^{\frac{1}{q}}; \tag{17}$$

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{m^{r - \frac{1}{q} - 1} n^{s - \frac{1}{p}}}{\max \left\{ \sqrt{m}, \sqrt{n} \right\}} A_m \right)^p < \left(\frac{q}{2rs} \right)^p \sum_{n=1}^{\infty} a_n^p, \tag{18}$$

where the constant factors $\frac{pq}{2rs}$ and $\left(\frac{q}{2rs}\right)^p$ are the best possible. In particular

(i) for $r = \frac{1}{2q}$ and $s = \frac{1}{2p}$, we obtain the following two inequalities:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{A_m B_n}{m^{\frac{1}{2q}+1} n^{\frac{1}{2p}+1} \max\left\{\sqrt{m}, \sqrt{n}\right\}} < 2(pq)^2 \left(\sum_{n=1}^{\infty} a_n^p\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} b_n^q\right)^{\frac{1}{q}}; \tag{19}$$

$$\sum_{n=1}^{\infty} \frac{1}{\sqrt{n}} \left(\sum_{m=1}^{\infty} \frac{A_m}{m^{\frac{1}{2q}+1} \max\left\{\sqrt{m}, \sqrt{n}\right\}} \right)^p < (2pq^2)^p \sum_{n=1}^{\infty} a_n^p, \tag{20}$$

(ii) for $r = s = \frac{1}{4}$ and p = q = 2, we obtain the following two inequalities:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{A_m B_n}{m^{\frac{5}{4}} n^{\frac{5}{4}} \max\left\{\sqrt{m}, \sqrt{n}\right\}} < 32 \left\{ \sum_{n=1}^{\infty} a_n^2 \sum_{n=1}^{\infty} b_n^2 \right\}^{\frac{1}{2}}; \tag{21}$$

$$\sum_{n=1}^{\infty} \frac{1}{\sqrt{n}} \left(\sum_{m=1}^{\infty} \frac{A_m}{m^{\frac{5}{4}} \max\left\{\sqrt{m}, \sqrt{n}\right\}} \right)^2 < 256 \sum_{n=1}^{\infty} a_n^2.$$
 (22)

Corollary 2. Let p > 1, $\frac{1}{p} + \frac{1}{q} = 1$, r, s > 0, r + s = 1, $a_n, b_n \ge 0$, $A_n = \sum_{k=1}^n a_k$, $B_n = \sum_{k=1}^n b_k$. If $0 < \sum_{n=1}^\infty a_n^p < \infty$ and $0 < \sum_{n=1}^\infty b_n^q < \infty$, then the following two inequalities holds:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}-1}}{\max\{m,n\}} A_m B_n < \frac{pq}{rs} \left(\sum_{n=1}^{\infty} a_n^p\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} b_n^q\right)^{\frac{1}{q}}; \tag{23}$$

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{m^{r-\frac{1}{q}-1} n^{s-\frac{1}{p}}}{\max\{m,n\}} A_m \right)^p < \left(\frac{q}{rs} \right)^p \sum_{n=1}^{\infty} a_n^p, \tag{24}$$

where the constant factors $\frac{pq}{rs}$ and $\left(\frac{q}{rs}\right)^p$ are the best possible. In particular

(i) for $r = \frac{1}{q}$ and $s = \frac{1}{p}$, we obtain the following two inequalities:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{A_m B_n}{m n \max\{m, n\}} < (pq)^2 \left(\sum_{n=1}^{\infty} a_n^p\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} b_n^q\right)^{\frac{1}{q}}; \tag{25}$$

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{A_m}{m \max\{m, n\}} \right)^p < \left(pq^2 \right)^p \sum_{n=1}^{\infty} a_n^p, \tag{26}$$

(ii) for $r = s = \frac{1}{2}$ and p = q = 2, we obtain the following two inequalities:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{A_m B_n}{m n \max\{m, n\}} < 16 \left\{ \sum_{n=1}^{\infty} a_n^2 \sum_{n=1}^{\infty} b_n^2 \right\}^{\frac{1}{2}}; \tag{27}$$

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{A_m}{m \max\{m, n\}} \right)^2 < 64 \sum_{n=1}^{\infty} a_n^2.$$
 (28)

Taking $\lambda = 2$, r = s = 1 in Theorem 1, we get the following result.

Corollary 3. Let p > 1, $\frac{1}{p} + \frac{1}{q} = 1$, $a_n, b_n \ge 0$, $A_n = \sum_{k=1}^n a_k$, $B_n = \sum_{k=1}^n b_k$. If $0 < \sum_{n=1}^\infty a_n^p < \infty$ and $0 < \sum_{n=1}^\infty b_n^q < \infty$, then the following two inequalities holds:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{A_m B_n}{m^{\frac{1}{q}} n^{\frac{1}{p}} \max\{m^2, n^2\}} < 2pq \left(\sum_{n=1}^{\infty} a_n^p\right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} b_n^q\right)^{\frac{1}{q}}; \tag{29}$$

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{n^{\frac{1}{q}}}{m^{\frac{1}{q}} \max\{m^2, n^2\}} A_m \right)^p < (2q)^p \sum_{n=1}^{\infty} a_n^p, \tag{30}$$

where the constant factors 2pq and $(2q)^p$ are the best possible. In particular for p = q = 2, we obtain the following two inequalities:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{A_m B_n}{\sqrt{mn} \max\{m^2, n^2\}} < 8 \left\{ \sum_{n=1}^{\infty} a_n^2 \sum_{n=1}^{\infty} b_n^2 \right\}^{\frac{1}{2}}; \tag{31}$$

$$\sum_{n=1}^{\infty} \left(\sum_{m=1}^{\infty} \frac{\sqrt{n} A_m}{\sqrt{m} \max\{m^2, n^2\}} \right)^2 < 16 \sum_{n=1}^{\infty} a_n^2.$$
 (32)

3 Integral Analogues

In this section we present integral analogues of the inequalities given in Theorem 1, which in fact are similar to the integral analogues of the Hilbert's inequality.

Theorem 2. Let p>1, $\frac{1}{p}+\frac{1}{q}=1$, $\lambda,r,s>0$, $r+s=\lambda, f,g\geq 0$ and $F(x)=\int_0^x f(t)dt$, $G(x)=\int_0^x g(t)dt$. If $0<\int_0^\infty f^p(x)dx<\infty$ and $0<\int_0^\infty g^q(x)dx<\infty$ then the following two inequalities holds:

$$\int_0^\infty \int_0^\infty \frac{x^{r-\frac{1}{q}-1}y^{s-\frac{1}{p}-1}}{\max\left\{x^\lambda,y^\lambda\right\}} F(x)G(y)dxdy < \frac{pq\lambda}{rs} \left\{\int_0^\infty f^p(x)dx\right\}^{\frac{1}{p}} \left\{\int_0^\infty g^q(x)dx\right\}^{\frac{1}{q}}; (33)$$

$$\int_0^\infty \left(\int_0^\infty \frac{x^{r - \frac{1}{q} - 1} y^{s - \frac{1}{p}}}{\max\{x^\lambda, y^\lambda\}} F(x) dx \right)^p dy < \left(\frac{q\lambda}{rs}\right)^p \int_0^\infty f^p(x) dx, \tag{34}$$

where the constant factors $\frac{pq\lambda}{rs}$ and $\left(\frac{q\lambda}{rs}\right)^p$ are the best possible.

Proof. Using Hölder's inequality, Hardy inequality (11) and proceeding as in the proof of Theorem 1, we get (33) and (34) are valid. For the best constant factor, let $0 < \varepsilon < \min \left\{ qs, \frac{1}{p-1}, \frac{1}{q-1} \right\}$,

$$f_{\varepsilon}(x) = \begin{cases} 0 & \text{if } x \in (0,1), \\ x^{-\frac{1+\varepsilon}{p}} & \text{if } x \in [1,\infty). \end{cases}$$

$$g_{\varepsilon}(y) = \begin{cases} 0 & \text{if } y \in (0,1), \\ y^{-\frac{1+\varepsilon}{q}} & \text{if } y \in [1,\infty) \end{cases}$$

Then

$$\left(\int_0^\infty f_\varepsilon^p(x)dx\right)^{\frac{1}{p}} \left(\int_0^\infty g_\varepsilon^q(x)dx\right)^{\frac{1}{q}} = \frac{1}{\varepsilon},\tag{35}$$

and

$$F_{\varepsilon}(x) = \begin{cases} 0 & \text{if } x \in (0,1), \\ \frac{q}{1 - \varepsilon(q - 1)} \left(x^{\frac{1}{q} - \frac{\varepsilon}{p}} - 1 \right) & \text{if } x \in [1, \infty). \end{cases}$$

$$G_{\varepsilon}(y) = \begin{cases} 0 & \text{if } y \in (0,1), \\ \frac{p}{1 - \varepsilon(p-1)} \left(y^{\frac{1}{p} - \frac{\varepsilon}{q}} - 1 \right) & \text{if } x \in [1, \infty). \end{cases}$$

Denote $\phi(\varepsilon) = \frac{pq}{(1-\varepsilon(p-1))(1-\varepsilon(q-1))}$. Then $\phi(\varepsilon) \to pq$, as $\varepsilon \to 0^+$ and for $x, y \ge 1$ $F_{\varepsilon}(x)G_{\varepsilon}(y) > \phi(\varepsilon) \left(x^{\frac{1}{q} - \frac{\varepsilon}{p}} y^{\frac{1}{p} - \frac{\varepsilon}{q}} - y^{\frac{1}{p} - \frac{\varepsilon}{q}} - x^{\frac{1}{q} - \frac{\varepsilon}{p}} \right).$

Then

$$\int_{0}^{\infty} \int_{0}^{\infty} \frac{x^{r-\frac{1}{q}-1}y^{s-\frac{1}{p}-1}}{\max\{x^{\lambda}, y^{\lambda}\}} F_{\varepsilon}(x) G_{\varepsilon}(y) dx dy >$$

$$> \phi(\varepsilon) \int_{1}^{\infty} \int_{1}^{\infty} \left(\frac{x^{r-\frac{\varepsilon}{p}-1}y^{s-\frac{\varepsilon}{q}-1}}{\max\{x^{\lambda}, y^{\lambda}\}} - \frac{x^{r-\frac{1}{q}-1}y^{s-\frac{\varepsilon}{q}-1}}{\max\{x^{\lambda}, y^{\lambda}\}} - \frac{x^{r-\frac{\varepsilon}{p}-1}y^{s-\frac{1}{p}-1}}{\max\{x^{\lambda}, y^{\lambda}\}} \right) dx dy =$$

$$= \phi(\varepsilon) \left(I_{1} - I_{2} - I_{3} \right) \text{ (say)}.$$

Integrating, we get

$$I_{1} := \int_{1}^{\infty} \int_{1}^{\infty} \frac{x^{r - \frac{\varepsilon}{p} - 1} y^{s - \frac{\varepsilon}{q} - 1}}{\max\left\{x^{\lambda}, y^{\lambda}\right\}} dx dy = \frac{\lambda}{\varepsilon \left(r + \frac{\varepsilon}{q}\right) \left(s - \frac{\varepsilon}{q}\right)} - \frac{1}{\left(s + \frac{\varepsilon}{p}\right) \left(s - \frac{\varepsilon}{q}\right)};$$

$$I_{2} := \int_{1}^{\infty} \int_{1}^{\infty} \frac{x^{r - \frac{1}{q} - 1} y^{s - \frac{\varepsilon}{q} - 1}}{\max\left\{x^{\lambda}, y^{\lambda}\right\}} dx dy = \frac{q\lambda}{\left(1 + \varepsilon\right) \left(r + \frac{\varepsilon}{q}\right) \left(s - \frac{\varepsilon}{q}\right)} - \frac{1}{\left(s + \frac{1}{q}\right) \left(s - \frac{\varepsilon}{q}\right)};$$

$$I_{3} := \int_{1}^{\infty} \int_{1}^{\infty} \frac{x^{r - \frac{\varepsilon}{p} - 1} y^{s - \frac{1}{p} - 1}}{\max\left\{x^{\lambda}, y^{\lambda}\right\}} dx dy = \frac{p\lambda}{\left(1 + \varepsilon\right) \left(r - \frac{\varepsilon}{p}\right) \left(s + \frac{\varepsilon}{p}\right)} - \frac{1}{\left(r - \frac{\varepsilon}{p}\right) \left(r + \frac{1}{p}\right)}.$$

Hence

$$\int_{0}^{\infty} \int_{0}^{\infty} \frac{x^{r - \frac{1}{q} - 1} y^{s - \frac{1}{p} - 1}}{\max\{x^{\lambda}, y^{\lambda}\}} F_{\varepsilon}(x) G_{\varepsilon}(y) dx dy > \phi(\varepsilon) \left\{ \frac{\lambda}{\varepsilon \left(r + \frac{\varepsilon}{q}\right) \left(s - \frac{\varepsilon}{q}\right)} - \bigcirc(1) \right\}.$$
(36)

If the constant factor $\frac{pq\lambda}{rs}$ in (33) is not the best possible, then there exists a positive constant K such that $K < \frac{pq\lambda}{rs}$ and (33) still remains valid if $\frac{pq\lambda}{rs}$ is replaced by K. In particular by (35) and (36), we have

$$\phi(\varepsilon) \left\{ \frac{\lambda}{\left(r + \frac{\varepsilon}{q}\right) \left(s - \frac{\varepsilon}{q}\right)} - \varepsilon \bigcirc (1) \right\} < < \varepsilon \int_{0}^{\infty} \int_{0}^{\infty} \frac{x^{r - \frac{1}{q} - 1} y^{s - \frac{1}{p} - 1}}{\max \left\{x^{\lambda}, y^{\lambda}\right\}} F_{\varepsilon}(x) G_{\varepsilon}(y) dx dy < < \varepsilon K \left(\int_{0}^{\infty} f_{\varepsilon}^{p}(x) dx\right)^{\frac{1}{p}} \left(\int_{0}^{\infty} g_{\varepsilon}^{q}(x) dx\right)^{\frac{1}{q}} = K.$$

Then $\frac{pq\lambda}{rs} \leq K$ as $\varepsilon \to 0^+$. This contradiction shows that the constant factor $\frac{pq\lambda}{rs}$ in (33) is the best possible.

Proceeding as in the proof for the best constant factor in (13), we prove the constant factor $\left(\frac{q\lambda}{rs}\right)^p$ in (34) is the best possible. This proves the theorem. \square

Remark 1. Taking $r = \frac{\beta+1}{q} + 1$, $s = \frac{\alpha+1}{p} + 1$, in Theorem 2, we get the following generalization of (9).

Let p > 1, $\frac{1}{p} + \frac{1}{q} = 1$, $\lambda > 0$, $\alpha > -(p+1)$, $\beta > -(q+1)$, $\frac{\alpha}{p} + \frac{\beta}{q} = \lambda - 3$, $f, g \ge 0$ and $F(x) = \int_0^x f(t)dt$, $G(x) = \int_0^x g(t)dt$. If $0 < \int_0^\infty f^p(x)dx < \infty$ and $0 < \int_0^\infty g^q(x)dx < \infty$, then the following inequality holds:

$$\int_{0}^{\infty} \int_{0}^{\infty} \frac{x^{\frac{\beta}{q}} y^{\frac{\alpha}{p}} F(x) G(y)}{\max\{x^{\lambda}, y^{\lambda}\}} dx dy < \frac{p^{2} q^{2} \lambda}{(\alpha + p + 1)(\beta + q + 1)} \left\{ \int_{0}^{\infty} f^{p}(x) dx \right\}^{\frac{1}{p}} \left\{ \int_{0}^{\infty} g^{q}(x) dx \right\}^{\frac{1}{q}}$$
(37)

where the constant factors $\frac{p^2q^2\lambda}{(\alpha+p+1)(\beta+q+1)}$ is the best possible.

Remark 2. Taking the different values of the parameters λ , r, s, as following the Theorem 1, we get the particular inequalities of (33) and (34).

References

- [1] HARDY G. H., LITTLEWOOD J. E., POLYA G. *Inequalities*, Cambridge University Press, Cambridge, 1952.
- [2] KRYLOV V. I. Approximation Calculation of Integrals, Macmillan, New York, 1962.
- [3] KUANG J. Applied Inequalities, Shangdong Science and Technology Press, Jinan, 2004.
- [4] KRNIC M., PECARIC J. Extension of Hilbert's inequality, J. Math. Anal. Appl., 2006, 324, 150–160.
- [5] MITRINOVIC D. S., PECARIC J. E., FINK A. M. Inequalities Involving Functions and Their Integrals and Derivatives, Kluwer Academic Publishers, Boston, 1991.
- [6] MITRINOVIC D. S. Analytic Inequalities, Springer-Verlag, Berlin, New York, 1970.
- [7] PACHPATTE B. G. On some new inequalities similar to Hilbert's inequality, J. Math. Anal. Appl., 1998, 226, 166–179.
- [8] PACHPATTE B. G. Inequalities similar to certain extensions of Hilbert's inequality, J. Math. Anal. Appl., 2000, 243, 217–227.
- [9] Sun B. Best generalization of a Hilbert type inequality, J. Ineq. Pure and Appl. Math., 2006, 7, No. 3, Art-113.
- [10] Sulaiman W. T. On Three Inequalities Similar to Hardy-Hilbert's Inequality, Acta Math. Univ. Comenianae, 2007, LXXVI, No. 2, 273–278.
- [11] DAS N., SAHOO S. New inequalities similar to Hardy-Hilbert's inequality, Turk. J. Math., 2009, In Press.
- [12] Yang B., Rassias T. M. On the way of weight coefficient and research for the Hilbert-type inequalities, Math. Ineq. Appl., 2003, 6, No. 4, 625–658.

- [13] YANG B. Generalization of a Hilbert type inequality and its applications, (Chinese), Gongcheng Shuxue Xuebao, 2004, 21, No. 5, 821–824.
- [14] YANG B. Best generalization of a Hilbert type inequality, (Chinese), J. Jilin Univ. Sci., 2004, 42, No. 1, 30–34.
- [15] YONGJIN L., BING H. Some extensions of Hilbert's type inequality and its application, J. Ineq. Pure and Appl. Math., 2006, 7, No. 2, Art-61.
- [16] WANG Z., GUO D. An Introduction to Special Functions, Science Press, Beijing, 1979.

NAMITA DAS P.G. Department of Mathematics Utkal University, Vani Vihar Bhubaneswar, Orissa, India 751004 E-mail: namitadas440@yahoo.co.in

Srinibas Sahoo Department of Mathematics Banki Autonomous College, Banki Orissa, India 754008 E-mail: sahoosrinibas@yahoo.co.in Received November 6, 2009